Mock CAT – I 

The test has 165 questions.

The total time for the test is 120 minutes.

The paper is divided into three sections

Section 1 : 55 questions – Quantitative Techniques

Section 2 : 55 questions – Data Interprétation & Reasoning 
Section 3:  55 questions – English & Reading Comprehensive
( Don’t use calculator
( Correct answer carries 1 mark
( Wrong answer carries ¼ negative marks 

SECTION - 1
1.
In a party I asked to a young woman “How old are you”?

She answered “ my age four years hence multiplied by two and from that subtracted three times my age  ten years ago will give you my exact it age :

How old do you think she was?
(a)  17

(b) 18


(c) 19


(d) 20

2. Test on three subjects physics, Chemistry & Biology are to be conducted simultaneously, the number of candidates for the tests are 68,36 & 72 respectively.  Candidates are to be seated in different rooms such that each room will have candidates of the same subject and the load on each invigilator be the same i.e. the number of candidates in each room should be the same what is the minimum number of rooms you need for the purposes.

(a)  22   
(b)  30   

(c )  44


  (d) none of these

3.  
There are 30 persons waiting to be recruited for playing cricket at the national level.  Two teams are to be picked up:  the first team recruited shall play the Australia, and the second shall play against the srilanka.  In how many ways can be cricket board select these teams?

(a)  2x30P11
(b)  30C11X19C11   
(c )  30P11X19P11
  
(d) 30C11X19C11/2!

4.   If a: b: c = 8:7:3 find the ratio of (a+2b+c) : (2a+3b-c)

(a)  25:34   
(b)  18:12   

(c )  12:18

  (d) 34:25

5.   Find the value of     0.0758 * 0.0758 * 0.0758 + 0.9242 * 0.9242 * 0.9242 

                                                                               
                       0.0758 * 0.9242 + 0.0758 * 0.9242 + 0.0758 * 0.9242  

(a)  0.8484   
(b) 1.0758   

(c)  2


  (d) 1

6.   
Three oranges, six bananas & eight apples cost Rs 30.   Seven oranges four bananas and two apples cost 20. I bought Five oranges, five bananas and five apples.  How much did I pay ?                          

(a)  25   
(b)  30   
(c )  35
 
 (d) Cannot be determined 

7.  
The product of all integers from 1 to 100 will have the following numbers  of zeros at the end:

(a)  20   
(b)  21   
(c )  24
 
 (d) 25

8.    
A five digit number is formed using digits 1,3,5,7 & 9 without repeating any are of these. What is the sum of all such possible numbers?

(a)  6666600   
(b) 6666660   
(c )  6666666 
 (d) none of those 

9.   
From each of two given numbers, 1/3 the smaller number is subtracted of the resulting number, the larger one is 4 times as larger as the smaller.  What is the ratio of the two numbers?
(a)  2:1   
(b) 3:1 

(c )  3:2 
 (d) none  

10.  
From a group of 30 persons, 2 are to be selected.  The first one to be a picked shall be sent to Mumbai and the other are to Kolkota.  What is the probability of Gautam going to Kolkota.

(a) 2/30 C2   
(b) 1/30C2
(c )  1/30P2
(d)  can not be determined

11.  
Let an+1 = 2an+1 (where n=0,1,2 …. & a0 = 0) then a10 is 

(a) 1023
(b) 2047
(c )  4095
(d)  8192

12.  
Let a,b and c be positive integers satisfying c<a<b and c+a+b=k.  what is the smallest value of K that does not determine a,b,c uniquely?

(a) 7

(b) 6

(c )  9

(d)  8

13.  
Given odd positive integers m,n & p.  Which of the following is not necessarily true?

 (a)  3(m2+n2+P2) is even
(b) m2n2p2

(c ) P4 (m4+n4)/2 is even

 (d)  5m+n+p4 is add.

14.
A and B can do a piece of work in 5 days, A and C in 6 days and B and C in 20 days.  A can do the in how many days.


(a)  6 ½
days
 (b) 7 ½
days
(c )  8 ½ days
(d) 9 ½
days

15.
If 3.689x1.138=4.19802, what is the exact value of 2.6891x1.1383=?
(a) 4.19930253
(b) 4.1993253
(c ) 4.199363
(d) 4.19065

(Q16 to 19 are based on the following)

Tanmay, Sukanta and Prasant are related to each other.  Here are some due to find out the relationship between them.  

a. Tanmay’s legal spouse and sukanta’s sibling are of the same sex

b. Among the three are Tanmay’s legal spouse, Sukanta’s sibling and Prasanta’s sister in law.

16.  
Who is the married man?

(a)Tanmay    
(b)  Sukanta 
(c) Prasanta    
(d) Cannot be determined

17.  
Who is the married women ?

(a)Tanmay    
(b)  Sukanta 
(c) Prasanta    
(d) Cannot be determined

18.   
The number of males is ?

I. 1

II. 2

(a)(I)      
(b) (II)    
(c) (I) or (II)  
(d) neither (I) nor (II)

19.   
Who is the sibling ?

(a)Tanmay    
(b) Sukanta 
(c) Prasanta    
(d) Cannot be determined

20.
Three man run a race of 100 m.  The race is won by 9 1/11 m in distance and by 1second in time.  Find the speed of the Winner (m/s).


(a) 10  10/11         (b) 11                     (c)10                    (d) 9  10/11       


21.   Find the solution of the equation 
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(a)  5    

(b)  8
 
(c) 3
    
(d) 2

22.   The time is 2.15 p.m.  What is the angle between the hour and minute hands ?


(a)  22½    
(b)  37 ½
(c) 43½
    
(d) 15½

23.   The distance between Bangalore to mysore is about 85 miles two train leave at 11 in the morning.  

         One train leaves Bangalore at 80 mph and the other from mysore at 50 mph. When they meet?

(a)  11.45    
(b)  11.15
(c) 11.30    
(d) 11.00

24.   In a party the total number of handshakes none exchanged is 6 can you tell me how may friends were 

        present.

(a)  6
    
(b)  5

(c) 4
    
(d) 3

(Q25 to 28 are based on the following :)

	d
	1
	C

	3
	6
	B

	e
	A
	2


  
In this square, if you add all the number by rows, columns or diagonals you will get the same        

  Number  answers the followings.

25.   
Find the value of a+f ?

(a)  13    
(b)  16

(c) 19    
(d) 14

26.   
Find the value of d-e?

(a)  3    

(b)  4

(c) 6
    
(d) 9

27.   
Find the value of c?

(a)  4    

(b)  6

(c) 9   
 
(d) 3

28.   
Find the value of a+b+c-d-e ?

(a)  10    
(b)  12

(c) 15    
(d) 08

29.   
What is the value of 
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(a)  6    

(b)  5

(c) 4    

(d) 3

30.  
Find x such that 43x776 is divisible by 11

(a)  3
    
(b)  5

(c) 7  
  
(d) none of these

31.   
Bishu is 26 now.  She is twice as old as Hema was when Bishu was as old as Hema is now  What would Hema’s age be now?

(a)  More than 30 years

(b)  either (a) or (c)

(c )  Less than 20 years 

(d)  Neither (a) nor (c)

32.  
A survey of 800 television watches produced the following information :  286 watch KKSBKBT, 298  KGGK & 215 KZK.  35 watch KK&BKBT and KGGK, 40 KGGK & KZK, 20 KZK & KKSBKBT & 40 none of the three games. How many watch all three games.

(a)  46
    
(b) 26

(c) 36 
  
(d) 56

33. 
I  have 650 g of a 14% solution of alcohol in wine.  I decide to add alcohol to get the mixture to 26% .  But after three days we find that the solution is already of 26% consistency.  How much wine value have evaporated 

(a)  350
    
(b) 300

(c) 325 
  
(d) can not be determined

34.   
The average age of 400 students is 20.62.  By enrolment of 60 new students, the average age is lowered to 20.12 years find the average age of the new students.

(a)  16.78
  (b) 16.79
(c) 16.7 
(d) 16

35.  
I bought tow varieties of rice costing 250 & 400 per bag respectively, mixed them and sold them at 360 per bag at a profit of 20% what was the ratio of the mixture?

(a)  6:5

  (b) 2:1

(c) 3:2
 
(d) 6:7

36.   
A little ball is dropped from a height of 8 ft.  and it bounces back each time to a height which is one half of the height of the last bounce

How far approximately will the ball have traveled when it comes to rest ?

(a) 36

(b) 12

(c) 24

(d) 48

  37 to 39 are based on the followings?

   a
(b+4)        c

(a+4)        b        (c+1)
     
 d      0         (c+4)        9

37.  
Find the value of a-b?

(a) 1

(b) 2

(c) 3

(d) 4

38.  
Find the value of C+4?

(a) 8

(b) 7

(c) 6

(d) 5

39.   
Find the value of d ?

(a) 4

(b) 1

(c) 3

(d) 2

40.  
600 persons working 8 hours per day complete 1/3 rd  of the work in 12 days.  The number of additional persons, working 6 hours per day required to complete the remaining work in 15 days, is ?

(a) 1280
(b) 680

(c) 600

(d) 80

41.  
Which is greatest in 221/2 %, 2/25, and .08?

(a) 22 ½  %
(b) 2/25

(c) .08

(d) All are equal 

42.  
Subtracting 25% of x from 5 equivalent to multiplying by how much

(a) 75

(b) .75

(c) .075

(d) 7.5

43.  
A reduction of 20% in the price of sugar enables a purchaser to obtain 2.5 kg more for Rs.160. Find the reduced price per kg

(a) 16

(b) 12.80
(c) 3.20

(d) 19.20

44.  
An amount of Rs. 2145 is divided among A B and C such that if their shares be reduced by Rs.IO, Rs.15 & Rs.20 respectively the remainder  shall be in the ratio 2:3:4.  The money received by c was

(a) 700

(b) 670

(c) 715

(d) 685

45.  
A B C subscribe Rs 50000 for a business.  A subscribe Rs 6000 more than B & B Rs 1000 more than C.  Out of a total profit of Rs 45000 A receives :


(a) 20600
(b) 22600
(c) 23600
(d) 21600

46.  
A is thrice as good a work man as B and together they finish a piece of work in 24 days.  In how many days will  B alone finish the work.

(a) 96 days
(b) 32 days
(c) 64 days
(d) 16days 

47.  
A train overtakes two persons who are walking in the same direction in which the train is going, at the rate of 2kmph &4kmph passes them completely is 9 and 10 seconds respectively.  The length of the train is :

           
(a)45m                      (b)50m                  (c)72m           (d)54m

48.  
If 7 and 9 are the remainders when 98 and 165 respectively are divided by a positive integer a than a =

          
(a)7                    (b)12                             (c)11               (d)13 

49.  
A cylindrical water tank with a diameter of 10M & height of 7m is being filled at the rate of 11 cubic meters per hour.  If the tank is halt full, how long will it take for the whole tank to be filled ?

            (a)25hours        (b)50hours            (c)200hours            (d)100hours

(Q50 to 52 These questions are based on following information:)

Five racers A B C D E are running in five tracks.  The person in track III is first.  C is ahead of E but behind A who is behind B. Trackwise, B is not near   D or C have two persons between them in the race.  B 5 to the right of B.  The person who is third is in track IV.

50.  
Who is the last in the race

(a) B

(b) C

(c) D

(d) E 

51.
Who is the track no V

(a) A

(b) B

(c) C

(d) D

52.  
Who is second in the race ?

(a) A

(b) B

(c) C

(d) E

Q53 to 55 

The diagram shows the games played by the young persons of a colony the triangle represents the persons playing badminton, the square is for chess Players and the circle for these who play cricket.  Each section of the diagram bears.  The no of persons playing the game or games.  Examine the diagram & answer the questions.


                          19

                               18

                 22  17
                         14     31
                 29
53.
Which game is played by the maximum number of person?

(a)Badminton   (b) Chess   (c) Cricket (d) Can’t say

54.  
What is the difference in the number of persons.  Who play one game and these who play two games.

(a)  19   
(b)  25   

(c )  31

  (d) 27

55.  
What is the % of persons who play cricket ?

(a)  57.2 %   
(b)  53.3  % 

(c ) 48.9%

  (d) 39.8%

56 - 65:-

Mark a:
If statement (1) is alone sufficient to answer the question 

Mark b:
If statement (2) is alone sufficient to answer the question

Mark c:
If both statements together are sufficient to answer the question. 

Mark d:
If even both statements taken together are not sufficient to answer the question. 

56.
How many families in Punjab have both radio and a two in one set?
1.   The state has 25000 families

2.   15000 families have two is one sets and 2750 families have radio.

57.  
A cylindrical tank 20 inches in height is full of water how many cubic inches of water does it contain?
1.  A cubic foot of water weighs 160 pounds.

2.  The internal diameter of the fish tank is 10 inches.

58.  
If in is a natural number than in is divisible by how many positive integers ?

1    n is the products of different prime numbers 

2.   n is divisible by 8.
59.
What day of the week today?

1.  Today is 10th October

2.  23rd December was a Wednesday?

60.  
What is the value of (x-y)?

1.  X2 - y2

=5

2.  X+ y


=1

61.  
6500 people are eligible to vote in an election.  How many of them actually voted ?

1.  Those who have actually voted were 49% of the men who are eligible to vote.

2.  38% of woman did not vote.

62.
In an isosceles triangle ABC, what is the length of AB?

1.  BC is 10 inches.

2.  Angle C is equal to 90.

63.  
What is the HCF of the positive integers C & D.

1.  C & D are even

2.  The H.C.F of c/2 & d/2 is 5.

64.  
Is the average of 50 candies greater than 26?

1.  1/3 of them cost 28 per candy

2.  ½ of them cost 22 per candy

65.  
What is the relation between the mothers of the two girls.

1.  The girls are first cousins

2.  The girls are bad friends.

66-70 

The distribution of sales of 6 different types of cloth by uno stores for two different years is given in the pie chart.
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66.
Which of the following type of items shaved the lowest percentage change in market share ?

(a)  Small trousers   
(b)  Pant   

(c ) Saree

  (d) Shirt

67.  
How many more lakh rupee of dhoties were sold in the II year than in the I year ?

(a)  42


(b)  58   

(c ) 10

  
(d) 62

68.  
What was the total value of salwars sold is the year (in lakh)

(a)  100  
(b)  240

(c ) 200

  (d) 140

69.  
What is the percentage share of market for shirt for both the years combined  together ?

(a)  35.00%   
(b)  32.10%   

(c ) 37.75%

  (d) 36.25%

70.  
If the price of a saree  was Rs 2000 is the first year and Rs 2500 in the second year , what was the change in the number of these sarees sold over the two years?

(a)  No Change
     (b)  1000   

(c ) 100

  (d) 1000

(Q71 to 75 ) 

Given below is the data of the sale of refrigerators of a company in four cities during are years.  The record is based on quarterly sale.

	       Time of the Year


       Cities
	Jan to Mar (Winter concession)
	April to July
	July to September
	Oct to Dec (millennium concession)

	Calcutta
	522
	736
	419
	468

	Chennai
	419
	606
	403
	452

	Delhi
	715
	804
	721
	735

	Mumbai 
	822
	793
	701
	814


71.  
What approximately is Mumbai’s contribution in the annual sale ?

(a)  27.8%
(b)  33.3%   
(c ) 30.9%
(d) 31.5%

72.  
The number of refrigerators sold during the quarterly period of winter concession were how many more or less than those of millennium concession period ?

(a)  12less            
(b) 3more    (c)9more    (d) 21less 

73. 
What is the percentage of the refrigerators sold during fully to sept quarterly? (approx) 

(a)  19.9%
(b)  23.9%
(c)  20.3% 
(d)  22.1% 

If the winter concession was 15% and the millennium concession 20% on the actual price which was Rs 8500 per refrigerator 

 74.  
How much turnover did the company receive during the period Oct to dec?(in lakhs)

(a)  167.89
(b)  196.67
(c)  174.79
(d)  179.34 

 75.  
The turnover of Jan to March is how much more than the turnover of Oct to Dec. 

(a)  Rs. 1194320
(b)  Rs.  1173910
(c)  Rs. 1198340
(d)  Rs. 1163910

Carefully answer the question of the following table :

Percentage of Mark obtained by 7 students in 6 subjects (max. Marks for each subject are sham in the brackets)

	  Subject

     Student
	H

(5)
	I

(60)
	J

(80)
	K

(50)
	L

(40)
	M

(40)

	A
	86
	82
	95
	78
	66
	84

	B
	92
	78
	85
	89
	72
	76

	C
	76
	94
	89
	75
	62
	69

	D
	67
	74
	74
	84
	85
	82

	E
	74
	86
	64
	80
	78
	72

	F
	88
	89
	76
	88
	70
	64

	G
	90
	96
	86
	92
	65
	66


76.  
Approximately what is the overall percentage of marks obtained by the D in all subjects?

(a)  79

(b)  82

(c)  86

(d)  76

77.  
What is the overall percentage of marks obtained by J in all the subjects 

(a)  82.74

(b)  84.76

(c)  76.84
(d)  74.87

78.  
What are the average marks obtained by all the student in I. 

(a)  51.34

(b)  85.57
(c)  52.36

(d)  76.27

79.  
What are the total marks obtained by F in H, I & J?

(a)  221.8

(b)  253

(c)  180.2

(d)  184

80.  
What is the average percentage of marks obtained by all the students in J?

(a)  81.92

(b)  81.29
(c)  65.03

(d)  76.23









Distance less moved away from equator in multiple of y.  The bar graph denoting temperature levels and the line graph sharing no of average migrance cases in one mare away from the equator are part of a report.

81.
Which part shows that even though   temperature level is the same these is an improvement an in over number of migrance cases are found? 
(a)  30y


(b)  30-40y

(c)  40y


(d)  40-50y

82.
What is the change in temperature level, 50y less from the equator?

(a)  40%

(b)  70%

(c)  60%

(d)  50%

83.  
What is the average temperature level is the entire stretch 0-50 yr?

 
(a)  153


(b)  187


(c)  165


(d)  174

84.
Which is the point which bracket this relation? 

(a)  50y KM

(b)  30 y KM

(c)  40y KM

(d)  20y KM

85.  
Which part shows a clear correlation between temperature and migrance cases? 

(a)  10y-40y Less

(b)  20y-40y KM

(c) 0-20y less
 
(d) 30y-50y 

86.  
Which part shows the least change in temperature per change in 

               (a) 10y-20y                                     (b)40y-50y                                   (c) 0-10y                      (d)30y-40y

87.  
Which of the following regions has the lowest ratio between the change in migrance cases to the change is temperature? 

             (a) 0y-50y                      (b) 10y-20y                    (c)  20y-30y                        (d)0-50y



88.
Which part shares the maximum percentage change in the number of migrance cases/

                   (a)40y-50y                             (b)  10y-20y                              (c)  20y-30y                          (d)Botha&b

89.  
What is the average number of migrance cases over the entire region.

                  (a)   22                             (b) 33                  (c) 44                                            (d)cannot be determined

90.
What is the percentage change in the arrange number of migrance cases between 0 to 50y?

(a)  40%

(b) 25%


(c) 75%

 
(d) Can not be determined

91 -  100 :
Each questions consists. of six statement following by options consisting of three statements put together in a specific order choose the option which indicates a valid agreements, that is, where the third statements is a conclusion drawn from the preceding two statements.

91.  (a).No thief is a cheat


(d).All tiks are toes

       (b).All tiks are not taks


(e).Some taks are toes

       (c).Some taks are not tiks


(f. Some taks are tiks

        (a). DBC


(b). DBA

(c) EAC


(d). FDE

92.  (a).  No Phatte is a eers …



(d).  Some eers are phattes

       (b).  Some Beers are Phattes


(e).  All phattes are not beers

       (c).   Some eers may be phattes 


(f).  Some eers are beers

        (a). FBC


(b). FCB

(c) BAE


(d). FBD

93.  (a).  Same zips are zams



(d).  Same zaps are zips

       (b).  Same zips are not zaps 


(e).  All zaps are zams

       (c).   All zips are zaps
 


(f).   All zaps are not zips

        (a). CEF


(b). EAB

(c) DAB


(d). CFE

94.  (a).  All yo – yo’s are bo –bo’s


(d).  All bo-bo’s are do-do’s

       (b).  Some bo-bo’s are not yo-yo’s


(e).  All yo-yo’s are not bo-bo’s 

       (c).   Some yo-yo’s are do-do’s 


(f).   All do –do’s are yo-yo’s

        (a). ADF


(b). DFE

(c) ADC


(d). DFA

95.  (a).  All poogies are boogies



(d).  All boogies are poogies

       (b).  All woogies ae poogies 



(e).  All boogies are woogies  

       (c).   All poogies are woogies 


(f).   All woogies are boogies 

        (a). EBA


(b). DCE

(c) BAE


(d). FDC

96.  (a).  Some B are M




(d).  All M are E

       (b).  No B is a M 




(e).  All E are M  

       (c).  Some M are F 




(f).   No E is a B  

        (a). ACF


(b). ABF

(c) BDF


(d). BEF

97.  (a).  P catch T




(d).  T catch W

       (b).  W catch T 




(e).  P catch W  

       (c).   P catch W




(f).   T catch P 

        (a). ABC


(b). ADE

(c) BCD


(d). DEF

98.  (a).  D operate



(d).  All those who operate are S 

       (b).  S diagnose 



(e).  Same D are not S   

       (c).   D are like S
 


(f).   Same people who operate are not S

        (a). DEF


(b). ABD

(c) EAF


(d). FBD

99.  (a).  S & G are couples



(d).  Same couples are twins 

       (b).  S & G are not twins 



(e).  Not all couples are twins   

       (c).   S & G are pairs
 


(f).   All pairs are not twins

        (a). CDF


(b). ABD

(c) ABE


(d). AEF

100.  
A.  Cheque are negotiable 

D.  Demand draft is a share

B. Some bonds are shares

E. Some shares are negotiable 

C.   Demand draft is a cheque

F. Demand draft is a negotiable 

        (a). BCE


(b). ABD

(c)ACF


(d). ADF

101 – 105 :
in the flowing questions, you are given two statements, followed by two possible inference  You are to point which of the following answer choices applies: 

Marks

(a).  If only inference I follows


(b).  If only inference II follows  

       
(c).  If both inferences follows


(d).  If neither of the inferences follows. 
101.
All pets are prets.  Some pets are pests So.

I   -
Some prets are pests

II  -
Some pests are prets’

102.
No p has A. E is P. So

I  -
E does not have A

II -
E has A. 

103. 
All T are playing objects.  All playing objects are fun to play with so.

I  -
All playing objects are T

II -
All Ts are fun to play with 

104.
Some d are t some b are d So

I  -
Some f are b

II -
Some b are d 

105.
All V are g all g are b. So

I  -
Some b are V

II -
Some V are b 

Direction for question 106 to 110:  A baseball game, five men, ABCDE and five women FGHI & J occupy a row of ten seats.  The men are in the odd numbered seats.  Starting from the left, each woman sits to the left of the man she is dating.

· D is I’s date

· I is not the right end of the row and the man she is dating is not at the left end of the row

· C is one seat from the right end of the row

· The man dating J likes G best among the other women and insists on being seated to the left of G.

· B and net date occupy the middle pair of seats 

· I sits next to B

106.
Which of the following lists five person sitting adjacent of one another form the left to right?

             (a)H,I,D,B,G         (b)D,I ,B,G,J      (c)B,Y,A,J,C      (d)D,I,B,G & either A or E

107.
U’s date may be

             (a)C or A            (b)A or E               (c)C or E          (d)C , A  or E

108.
Which of the following cannot be determined in the basis of the information given?

             I.  who occupies the seat  farthest to the left 

             II. who occupies the seat  farthest to the right

(a)  I only         (b) II only            (c) I & II only                  (d) None of these

109.
Which of the following could be determined exactly of the position of either A or E was given?

(a)The identity of A’s date

(b)The identity of E is date

(c)The identity of A’s date or E’s date but not both

(d)Which woman is not seated between to men.


110.
In order to determine the position of G it is necessary to use how many f the number statements 

(a)   3


(b)   4


(c)   5


(d)   6  

SECTION - 3

Q111 – 118
Correct the Grammatical error of the under line part of following questions? 

111. Gopal play football everyday but to day he play volley
(a)   Plays, is playing 


(b)   Is playing, plays 

 (c)  played, is playing


(d)   Play, has played  

112. The drama begin at 8 p.m. . We shall go to see it.

               (a) begins       (b) will begin     (c) shall begin          (d) have to begin

113.     The teacher arrive when the boys make a noise

             (a) arrives, is making      (b) is arriving, makes(c)arrived , was making(d)arrived ,were making

114.
The patient suffer since last evening.

 (a) suffers       
              (b) is suffering                 
 (c) was suffering
 (d) has been suffering

115 .
He thrown away my advice

                           (a) threw away   
(b) rejected         
 (c) both a&b                   (d).none of these

116.
He turn on the T.V

              (a) turned on  

(b) switched on   
 (c) both a&b  

(d) none of these

117.       He was cut off in the crime of his life.

 (a)  cut off  

(b)  no  development 
 (c ) can’t be developed   (d) cut off (past)

118.  One atomic was will wipe out the whole human civilization
              (a)wipe out  

(b)totally destroy
 (c)none of these
(d) both a& b

119-130:   See the following  four sentences carefully and choose the a logical sequences for the sentences 

 A,B,C,D. 

119.
(a)   And hide the hearts of one people from these of another




(b)   Be recognized in international affairs  

(c)   If may be long before the law of love will 

(d)  The machineries of government stand between. 

(a). ABCD

(b). DCBA

(c)CBDA

(d). BCDA

120.
(a)    To forgive is not to forget




(b)    There is no merit in loving an enemy 

(c)    The merit lies in loving in spite of the vivid knowledge that the one that must be loved is not a friend.

(d)    When you forget him for a friend 

(a). ABCD

(b). ACBD

(c)DCBA

(d). BCDA

121.
(a)   My religion is based on




(b)   Truth and  non violence

(c )   Truth is my  god

(d)   Non violence is the means of realizing him

        
(a). DCBA


(b). DBCA

(c)DCBA

(d). ABCD

122.
1. The only virtue I want to claim is truth and non violence
(a)   I lay no claim to superhuman powers




(b)   My services have many limitations

(c )  I want non I wear the same corruptible flesh that the weakest of my

(d)   Follow being wear and on these fore is liable to err as any. 

2.   but god has up to now blessed them in spite of in perfection

(a). ACDB

(b). ABCD

(c)ADCB
(d). DCBA

123.
(a)   methods even to serve the noblest of causes 




(b)   I am an uncompromising opponent of violent. 

(c )  Admire worthy motives. 

(d)   However much I may sympathies with and 

(a). ABCD

(b). DCBA

(c)DBCA
(d). BCDA

124.
(a)   Nonviolence is not quality to be evolved 




(b)   or expressed to order.  It is an 

(c)   Upon intense individual effort  

(d)   inward growth depending for sustenance  

(a). ABCD

(b). ACBD

(c)ABDC
(d). CDBA

125.
(a)   disposal of mankind it is mightier


(b)   then the mightiest weapon of 

(c)   non violence is the greatest force at the   

(d)   destruction devised by the in genuity of man   

(a). CABD

(b). ABCD

(c) CBAD
(d). ABCD

126.
(a)   Love lived on island.  One day


(b)   Happiness, Sadness, knowledge and  

(c)   The Island began to sink so all   

(d)   The felling prepared the boats to leave    

(a). BADC

(b). ABDC

(c) BADC
(d). BACD

127.
(a)   Vanity said “ you are all wet and will damage my beautiful boat”


(b)   for help “ I can’t help you”

(c)   beautiful vessel she cried out    

(d)  The love saw vanity in a     

(a). DCBA

(b). DCAB

(c) ABCD
(d). ACBD

128.
(a)   Sadness declined, saying he needed to be alone.  This, love saw


(b)   happiness  love carried out “ Happiness, please take me with you”

(c)   Next love pleaded with Sadness “ please let me go with you “ but     

(d)   But happiness was so overjoyed that he didn’t hear love calling to him 

(a). CADB

(b). CABD

(c) ACBD
(d). ACDB

129.
(a)   Love began to cry.  Then, she heard a voice “ Come leave,


(b)   I will take you with me “ it was an elder. 

(c)   When they arrived an land the elder want to his way.  Love realized how much she owed the elder 

(d)   Love felt so blessed and overjoyed that she forgot to ask the elder his name.

(a). ABDC

(b). ABCD

(c) CDAB
(d). DCBA

130.
(a)   Who helped me 


(b)   It was time, knowledge an answered. 

(c)   Love then found knowledge and asked 

(d)   Only   time is capable of understanding how great love is 

(a). CDAB

(b). CBAD

(c) CABD
(d). CDBA

131 – 140:

131. 
(a)  Abstract 

 (b)   Conceptual 
 (c)  Material  

(d)  Ideational 

132. 
(a)  Ring 

 (b)   Shoulder  

(c)  Finger  

(d)  write 

133. 
(a)  Apt 


 (b)  Relevant 

(c)   Appropriate

(d)  Adept

134. 
(a)  Equestrian

 (b)  Neigh

(c)  Derby

(d)  Bark

135. 
(a)  Solar 

 (b)  Hydro  

(c)   Biogas

(d)  Nuclear

136. 
(a)  Expiate

 (b)  Absolve 

(c)  Pardon 

(d) Ac quit

137. 
(a)  WEF

 (b)  BES 

(c)  IMF 

(d)  WTO

138. 
(a)  Sphinx

 (b)  Medusa  

(c) Adonis 

(d)  Cupid

139. 
(a)  Paternal 

 (b)  Maternal  

(c)  Avuncular  

(d)  Truncate

140. 
(a)  Equine  

 (b)  Horse  

(c)  Equinox  

(d)  Neigh


141 – 165   :-   Read the passages carefully and answer the questions given below :

PASSAGE - I

I found that Mrs. Heep slowly came nearer to me and Uriah got opposite to men, and they gave me all the best food on the table.  They began to talk about their aunts; and I told them about my aunt.  They talked about fathers and mothers, and I told them about my father and mother;  and then I stopped because my aunt had advised me to be silent on that subject.  But I had no chance against Uriah and Mrs. Heep.  They did what they liked with me.  They got out of me things which I did not wish to tell.

141.
The speaker told Uriah and Mrs heep about has aunt because  


 
(a)   They pleaded with him to do so     

(b)    he liked  talking about his aunt  

(c )   They first talked about their aunts  

(d)    They forced him to talk about his aunt.  

142.
The speaker stopped talking about his parents because


 
(a)   he did not like the subject      

(b)    he could not remember the details   

(c )   His parents had forbidden him to do so   

(d)    His aunt had told him not to discuss his parents 

143.
The Heeps did what they liked with the speaker because  


 
(a)    He was a fool      

(b)    He was over whelmed by their wind ness   

(c )   He for got his aunts device 

(d)    He was lager to till them everything   

144.
When the speaker found that the Heeps were frank with him he 

 
(a)   admired their frankness      

(b)    became suspicious of their motives   

(c )   told them all they wanted to know 

(d)    did not know what to do.  

145.
Uriah ,  Heep and his wife gave the speaker good food because  


 
(a)   They were fond of him      

(b)    They were kind by nature   

(c )   The speaker asked for special treatment   

(d)    They wanted to elicit information from him 

PASSAGE - II

Slowly but surely the great passenger trains of the United States have been fading from the rails.  Short run commuter trains still rattle in and out of the cities.  Between major cities you can still find a train, but their running is becoming less frequent. The twentieth Century Limited.  The Broadway Limited, and other luxury trains that sang along the rails at 60 to 80 miles an hour are no longer running.  Passengers on other long runs complain of poor service, old equipment, and costs in time and money.  The long distance traveler today accepts the noise of jets, the congestion at airports and the traffic between airports and the city.  A more elegant and graceful way is becoming only a memory.

146.
The trains that still run frequently are


 
(a)   Freight trains     

(b)   Commuter trains 

(c)    Luxury trains 

(d)    Fast long distance trains 

147.
The great passenger trains referred to the passage were 


(a)   Majestic tourists train      

(b)   Efficient commuter trains 

(c)   Long distance passenger trains 

(d)   The twentieth century united and the broad away limited 

148.
Passengers on long distance trains are unhappy because: 


(a)    Long delays are caused at railway actions       

(b)    elegance and grace are missing 

(c )   Trains tickets are not easily available  

(d)    The service on trains is often par 

149.
The author feels that raveling by train


(a)   Can never be comfortable 

(b)   Was comfortable is the past  

(c )   Is comfortable but vary expansive 

(d)    Will be comfortable in future 

150.
What the author associates with air travel is 


(a)   Elegance and face 

(b)   Luxury & speed 

(c )   Noise & congestion 

(d)    Expense and style 

PASSAGE - III

The black-and-white dog made off as I went through the fence.  But the red dog whimpered and hesitated, and moved on hot bricks.  He was fat and in good condition.  He waited while I went up to him, wagging his tail and whimpering, and ducking his head and dancing.  He daren’t rub his nose with his paws any more; it hurt too much.  I patted his head and looked at his nose, and he whimpered loudly.  He must have had thirty quills, or more, sticking out of his nose; the white, ugly ends of the quills protruding from his already swollen, blood-puffed muzzle.

151.
The black & white dog ran way because


(a)  He was being chased 

(b)   He had been hit with stones 

(c )   The red dog chased him 

(d)    He heard his masters whistle 

152.
The red dog moved gingerly and restlessly because 


(a)   The sun was not 

(b)   He was in great pain 

(c )   he was frightened   

(d)   he was fat  

153.
The dog whimpered loudly by when


(a)   The author examined his nose        

(b)   He ducked his head  

(c )   The author touched him 

(d)    He moved on hot bricks 

154.
Wagging his tail the dog pleaded with the author to 


(a)  remove the  quills

(b)  take him to the  vet

(c )   Give him food 

(d)    Take him back to his market

155.
The word .,……….. means


(a)   Sharp 

(b)   Cruel 

(c )   Black 

(d)    Repulsive 

PASSAGE – IV

A frustrated old man, Badni Thakur was never tired of extolling the exploits of his ancestors.  With a little prompting he would lapse into a reminiscent mood, push back the loosely tied turban from his close-cropped grizzled hair and start a familiar story, improvising fanciful details which, to the mirth of his audience, always kept changing with every recounting.
156.
Badni Thakur often remembered his ancestors because: 


(a)   They had been rick & powerful 

(b)   He was an old man  

(c)   he was not happy with himself 









(d)   They were dead the dead must be remembered 

157.
The Thakur told stories about his ancestors whenever he 


(a)   Felt like doing it 

(b)   Was in the company of his friend 

(c)   Was requested by a friend or two to do it 

(d)   Was in a jovial mood 

158.
The impact of the stories on his friends was that they 


(a)   Were filled with amazement 

(b)   Felt very depressed 

(c)   Failed to under stand much of what he said 

(d)   Were greatly amused 

159.
The most important feature of his stories was that they: 


(a)   Were based on facts 

(b)  Were full of philosophical reflections 

(c)  Always had something new to other 

(d)  Were full of funny incidents 

160.
His attitude to his ancestors was are if 


(a)   Awe 

(b)   Fear 

(c)   Reverence 

(d)   Admiration 

PASSAGE – V

It is a fundamental characteristic of culture that, despite its essentially conservative nature, it does change over time and from place to place.  Herein it differs strikingly from the social behaviour of animals other than man.  Among ants, for example, colonies of the same species differ little in behaviour from one another and even, so far as we can judge from specimens embedded in amber, from other ancestors of fifty million years ago.  In less than one million years man, by contrast, has advanced from the rawest savagery to civilization and has proliferated at least three thousand distinctive cultures.

161.
The phases essentially conservative nature implies that culture: 


(a)   Has an inbuilt resistance to change 

(b)   Is violently opposed to change 

(c)   Is essentially static f 

(d)    Is essentially self  contained. 

162.
According to the author, man cannot live 


(a)   Without creating a thousand distinctive insects

(b)   Like ants and other insets 

(c )  Without .asserting his dignity

(d)   Without constantly striving for a better mode of life 

163.
The world proliferated here means 


(a)    Spread 

(b)    Propagated 

(c )   Popularized 

(d)    multiplied

164.
The author speaks about the ants to bring out …………


(a)    Social solidarity 

(b)    Fixed  pattern of social behavior of the ants  

(c )   Instinct for survival 

(d)    Inferior mode of living 

165.
The author’s chief concern is 


(a)    The social behavior of animals 

(b)    Evolution of human society 

(c )   Men’s abilities of survival 

(d)    Adaptive techniques perfected by man.
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